

$$\begin{aligned} \alpha^2 - \delta\alpha + \gamma^2 &= 0 \Rightarrow \alpha^2 - \delta\alpha + \gamma^2 = 0 \\ \beta^2 - \delta\beta + \gamma^2 &= 0 \end{aligned} \quad \left\{ \begin{array}{l} \alpha^2 - \delta\alpha = \beta^2 - \delta\beta \\ \alpha\beta = \gamma^2 \end{array} \right. \quad \begin{array}{l} \alpha + \beta = \delta \\ \alpha\beta = \gamma^2 \end{array}$$

$$\frac{\alpha + \beta}{\delta} = \frac{\gamma(\delta - \beta) + \beta}{\delta\beta} = \frac{\gamma_0 - \gamma\beta + \beta}{\delta\beta} \rightarrow \beta(10\delta\beta - \gamma^2) = 10\delta\beta^2 - \gamma^2\beta = -\gamma^2\beta$$

$$\beta^2 = \beta(\delta\beta - \gamma^2) = \delta\beta^2 - \gamma^2\beta = \delta(\delta\beta - \gamma^2) - \gamma^2\beta = 10\delta\beta - \gamma^2\beta = 10\delta\beta - \gamma^2\beta$$

$$\begin{array}{c|cc} \alpha & -1\delta & \gamma \\ \hline \gamma & -\gamma & -\gamma \end{array}$$

$$\alpha_5 = \frac{\gamma - 1\delta}{\gamma} = 0, \quad \gamma = \frac{\alpha_1 + \alpha_4}{\gamma}$$

$$\alpha_1 + \alpha_4 = 1\delta$$

۲

$$\frac{\sqrt{\Delta}}{|\alpha|} = \frac{\gamma}{\gamma}k \quad \frac{\sqrt{\gamma^2k^2 - \gamma_0}}{1} = \frac{\gamma}{\gamma}k \quad \begin{array}{l} \gamma^2k^2 - \gamma_0 = \frac{14}{9}\gamma^2 \\ \frac{\gamma_0}{9}k^2 = \gamma_0 \quad k^2 = 9 \end{array}$$

$$\left[\frac{k}{\gamma} \right] = \gamma$$

۳

$$\gamma_5 = 1 \quad \begin{array}{c|cc} \alpha & -\delta & \gamma \\ \hline \gamma & \gamma & 1 \end{array} \quad \gamma_5 = -1 \rightarrow \frac{\gamma - \delta}{\gamma} = -1$$

$$\alpha + \beta = -\gamma$$

$$\alpha^2 + \beta^2 = \gamma^2 + \gamma^2 = 2\gamma^2 \quad \gamma^2 = 1 \quad \gamma = \frac{1}{\gamma} \quad \gamma = \alpha^2 + \gamma^2 + \frac{1}{\gamma}$$

$$\alpha = 0 \Rightarrow \gamma = \frac{1}{\gamma}$$

۴

$$\begin{array}{c|cc} \alpha & \beta & \frac{\gamma}{\gamma} \\ \hline -\gamma & \gamma & - \end{array} \quad \Delta > 0 \quad \begin{array}{l} \gamma\delta + \gamma m > 0 \\ \gamma m > -\gamma\delta \end{array} \quad m > \frac{-\gamma\delta}{\gamma} \quad \textcircled{1}$$

$$m = \{-\gamma, -\delta, -\gamma, -\gamma\}$$

$$-\frac{11}{\gamma} + \frac{\gamma\delta}{\gamma} + m < 0 \quad \frac{\gamma}{\gamma} + m < 0 \quad m < -\frac{\gamma}{\gamma} \quad \textcircled{2} \quad \textcircled{1} \Rightarrow \frac{-\gamma}{\gamma} < m < \frac{-\gamma}{\gamma}$$

$$-\gamma, \gamma\delta \quad -\gamma, \gamma\delta$$

$$y = mx^2 - 19x + \delta m - 1$$

$$\frac{-\Delta}{r_m} = \gamma \quad \Delta_2 - \Lambda m = 19x - r_m(\delta m - 1)$$

$$-\Lambda m_2 19x - r_m m^2 + r_m$$

$$r_m m^2 - 19m - 19x_2 = 0 \quad \delta m^2 - r_m - r_g x_2 = 0$$

$$m = \frac{r \pm \sqrt{r^2 + 19r_0}}{10} \quad \begin{matrix} m = r \\ m = -r \end{matrix}$$

$$x = \frac{-b}{2a} = \frac{19}{2} \quad x = r$$

$$x^2 + r(a+1)x + ra - 1 = 0$$

$$x^2 + r(a+1)x + ra - 1 = 0$$

$$p^2 + r(p(a+1) + ra - 1) = 0$$

$$x, a, p \rightarrow \text{محدد} \quad a^2 = x p$$

$$p_2 \alpha \beta = ra - 1 = a^2$$

$$a^2 - ra + 1 = 0$$

$$(a+1)^2 = 0$$

$$a = -1$$

$$x^2 - vx^2 - \delta = 0 \quad y = x^2 \quad y^2 - vy - \delta = 0 \quad y = \frac{v \pm \sqrt{v^2 + 4\delta}}{2}$$

$$r p^2 - r s p + r s^2 = r p^2 = r y^2 = r x \quad \frac{r^2 + 49 + 19\sqrt{49}}{r} = \frac{111 + 19\sqrt{49}}{r} \quad \begin{matrix} x = \frac{v \pm \sqrt{v^2 + 4\delta}}{2} \\ S = 0 \\ P = -y \end{matrix}$$

$$= \delta + v\sqrt{49}$$

$$y = kx^2 - rx - 4 \rightarrow S\left(\frac{r}{yk}, -\frac{(19 + rk)}{yk}\right)$$

$$y = -rx - r \rightarrow -r\left(\frac{r}{yk}\right) - r = \frac{-1 - rk}{k} = \frac{-(r + rk)}{k}$$

$$1 + rk = r + rk$$

$$rk = r \quad k = 1$$

$$y = -1$$

$$-mx^2 + mx + 1 = -m - x$$

$$-mx^2 + (m+1)x + m+1 = 0 \rightarrow \Delta < 0$$

$$(m+1)^2 + 4m(m+1) < 0$$

$$m^2 + 1 + 4m + 4m^2 + 4m < 0$$

$$\delta m^2 + 9m + 1 < 0$$

$$m = -1$$

$$m = \frac{-1}{\delta}$$

$$\frac{-1}{\delta} = \frac{-1}{\delta} \quad \frac{-1}{\delta} = \frac{-1}{\delta}$$

معاملات